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Cuadro 20 (continuación 6)/Table 20 (continued 6)
Uruguay: tablas abreviadas de mortalidada

Uruguay: abridged life tables 
a

2010

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.015 0.014  100 000  1 447  98 747 0.985 b 7 289 188 72.9
1 4 0.001 0.003  98 553   267  393 522 0.998 c 7 190 442 73.0
5 5 0.000 0.001  98 286   124  491 119 0.999 6 796 919 69.2

10 5 0.000 0.001  98 162   145  490 446 0.997 6 305 800 64.2
15 5 0.001 0.004  98 017   378  489 138 0.995 5 815 354 59.3
20 5 0.001 0.006  97 639   591  486 717 0.994 5 326 216 54.6
25 5 0.001 0.006  97 048   595  483 754 0.994 4 839 498 49.9
30 5 0.001 0.007  96 453   635  480 679 0.992 4 355 744 45.2
35 5 0.002 0.009  95 818   853  476 958 0.989 3 875 065 40.4
40 5 0.003 0.014  94 965  1 290  471 598 0.983 3 398 107 35.8
45 5 0.004 0.021  93 674  1 996  463 381 0.973 2 926 509 31.2
50 5 0.007 0.034  91 678  3 079  450 693 0.957 2 463 128 26.9
55 5 0.011 0.053  88 599  4 678  431 302 0.933 2 012 435 22.7
60 5 0.017 0.082  83 922  6 915  402 320 0.896 1 581 133 18.8
65 5 0.027 0.127  77 006  9 799  360 534 0.842 1 178 814 15.3
70 5 0.043 0.193  67 207  12 987  303 570 0.765  818 280 12.2
75 5 0.067 0.286  54 221  15 512  232 325 0.663  514 710 9.5
80 5 0.103 0.408  38 709  15 802  154 041 0.538  282 384 7.3
85 5 0.157 0.554  22 907  12 688  82 816 0.406  128 344 5.6
90 5 0.220 0.683  10 219  6 984  33 637 0.294  45 528 4.5
95 5 0.284 0.777  3 236  2 515  9 891 0.168 d  11 890 3.7

100 ω 0.360 1.000   721   721  2 000  2 000 2.8
Mujeres/Females

0 1 0.012 0.012  100 000  1 156  98 979 0.988 b 8 006 132 80.1
1 4 0.001 0.002  98 844   221  394 800 0.998 c 7 907 153 80.0
5 5 0.000 0.001  98 623   96  492 876 0.999 7 512 353 76.2

10 5 0.000 0.001  98 527   109  492 365 0.999 7 019 477 71.2
15 5 0.000 0.002  98 418   174  491 657 0.998 6 527 112 66.3
20 5 0.000 0.002  98 244   232  490 640 0.997 6 035 455 61.4
25 5 0.001 0.003  98 012   285  489 347 0.997 5 544 815 56.6
30 5 0.001 0.004  97 727   367  487 716 0.995 5 055 468 51.7
35 5 0.001 0.005  97 360   514  485 512 0.993 4 567 752 46.9
40 5 0.002 0.008  96 845   759  482 327 0.990 4 082 240 42.2
45 5 0.002 0.012  96 086  1 155  477 541 0.985 3 599 913 37.5
50 5 0.004 0.019  94 931  1 772  470 222 0.976 3 122 372 32.9
55 5 0.006 0.029  93 158  2 709  459 018 0.963 2 652 150 28.5
60 5 0.009 0.045  90 449  4 093  442 012 0.943 2 193 132 24.2
65 5 0.015 0.070  86 356  6 058  416 634 0.912 1 751 121 20.3
70 5 0.023 0.108  80 298  8 663  379 832 0.866 1 334 487 16.6
75 5 0.036 0.164  71 635  11 739  328 826 0.800  954 655 13.3
80 5 0.055 0.244  59 896  14 621  262 926 0.709  625 829 10.4
85 5 0.086 0.353  45 275  15 992  186 394 0.593  362 903 8.0
90 5 0.131 0.490  29 283  14 352  110 534 0.457  176 509 6.0
95 5 0.200 0.647  14 931  9 668  50 485 0.235 d  65 975 4.4

100 ω 0.340 1.000  5 263  5 263  15 489  15 489 2.9

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


